

Barco Products, LLC 24 N Washington Ave Batavia IL 60510 (630) 845-5457 keyaccounts@barcoproducts.com

Quote

Account Number - 382799

Estimate # QUORCO24615

6/13/2025

Customer Chris Swanson West Allis City Offices 7525 W Greenfield Ave West Allis WI 53214 (414) 302-8822 Ship To Chris Swanson West Allis City Offices 6300 West McGeoch Ave Milwaukee WI 53219 (414) 302-8822

Barco SKU	Qty	Rate	Amount	Estimated Lead Time
02CL1300-BK Cassidy Straight Back Bench/ 6' Bench/ Black	30	\$618.00	\$18,540.00	Ships in 3 - 4 Weeks
02CL1195-BK Cassidy™ Bench/ Armrest/ Black	30	\$48.00	\$1,440.00	Ships in 3 - 4 Weeks
08SA3798-BK 32 Gal Plastic-Coated Slatted Receptacle/ Dome Lid Combo/ Black	30	\$625.00	\$18,750.00	Ships in 3 - 4 Weeks

Subtotal	\$38,730.00
Tax Total (%)	\$0.00
Shipping	\$645.28
Total	\$39,375.28

*Estimated lead time is based on normal fulfillment time of an order at this moment. Orders with large quantities may require additional time. These estimates are subject to change based on the nationwide supply chain issue.

PRICING FOR THIS QUOTE IS LOCKED IN FOR 30 DAYS

Quote # WQ 381565

Here is the Quote as per your request. The 'Shipping' total has been applied. To place an order, simply click 'Submit Order Confirmation' below. Please print this page for your records. Customer Order Confirmation is required to process order.



627 Amersale Drive Naperville, IL. 60563 sales@belson.com

Toll Free: 1-800-323-5664 Phone: 1-630-897-8489 Fax: 1-630-897-0573

QUOTE # WQ 381565

Expires 7/11/2025

Model #	Description		Lbs	Quantity	Unit Price	Unit Total
CBPB-6SB-BKC	6' Powder-Coated Steel Bench With Straight Back, Black (13 to 24 Units) **DISCOUNT APPLIED**		179	30	\$796.00	\$23,880.00
CBPB-6WBA-BK	Center Armrest For 6' Bench With Back, Powder-Coated Steel, Black **DISCOUNT APPLIED**			30	\$37.00	\$1,110.00
M3601-DT	Oakley Collection, Basic Slatted 36 Gallon Trash Receptacle With Plastic Liner & Dome Top Lid Black **FREE FREIGHT** **DISCOUNT APPLIED**			30	\$745.00	\$22,350.00
		Subtotal	8,520		Subtotal	\$47,340.00
).0000% Tax	\$0.00
Customer Order Confirmation is required to process order.			Freight - S&H		\$1,791.11	
Your Order will not be shipped without your "Order Confirmation"					Grand Total	\$49,131.11
Bill To: Ship To:						

First/Last Name	Chris Swanson			
Company	City of West Allis	Ship To	City of West Allis DPW	
Address 1	7525 W Greenfield Ave	Address 1	6300 W McGeoch Ave	
Address 2		Address 2		
City	West Allis	City	West Allis	
State	WI	State	WI	
Zip Code	53214	Zip Code	53219	
Country	USA	Country	USA	
Phone	414-302-8821	Phone	414-302-8821	
Fax		Contact	Chris Swanson	
Email	cswanson@westalliswi.gov	Email	cswanson@westalliswi.gov	

Additional Delivery Services

		ommercial Truck R			
			t from the truck to the		
			able to unload the shi	oment from the truck.	
◊ Does Not app	ly to UPS ship	ments			
Special Instruction	S				
VN P			nan na	ann fa stain an	n en
Intended Payment	Method				
		**************************************			from the second
VISA	MasterCard	. Cards	DISCOVER	and the second s	PO
Visa	MasterCard	American Expres	s Discover	Check with Order	On Acco
0	0	0	0	0	\bigcirc
Order Confirmation	n Method Cu	stomer Confirma	tion is Required to (Complete Order	********
		*****	•		
Email Order Con		cswan	son@westalliswi.gov		
◯ Fax Order Confir	mation				
Customer Service	-		n - 4:30pm CST)		
What is the best of			hone		
Contact Name (If					

Quote Number: 26942

1 of 2 Page:



WITT INDUSTRIES AN ARMOR COMPANY 4600 N MASON MONTGOMERY ROAD MASON, OH, 45040 513-923-5800

<u>Quote To:</u> # 146537	Date:	6/17/2025	Expires:	7/2/2025
CITY OF WEST ALLIS, WI	Ship To:	CITY OF WE	ST ALLIS, WI	
6300 W MCGEOCH AVE WEST ALLIS WI 53219	Reference:			
USA	Sales Person::	John Scurfield	t	
Phone: Fax:	E-mail:			

Terms: Terms Ship Via: To Be Determined

Line	Part Description	Rev Drawing	Expected Qty	Unit Price	Ext. Price USD
1	M6-BCH-ARM-BK SLATTED 6' METAL BENCH W/ARM	 I BLACK	30.00 EA	1,050.0000	31,500.00
2	M3601-DT-BK OAKLEY SLATTED RECEPTACLE	 WITH DOME TOP LID	30.00 EA BLACK	610.0000	18,300.00
3	FREIGHT SHIPPING/FREIGHT LIFTGATE	-	1.00EA	3,700.0000	3,700.00

• Pricing is based on quantity quoted. A change in quantity will require a new quote.

Lead time for this order will be approximately 6 weeks, after payment terms and artwork approval.

Payment Options

• Net 30 Terms: Pending completed credit application and approval.

Credit Card: We accept Visa and MasterCard up to \$25K max.

ACH Deposit: An electronic deposit can be made to our account.

· Cash in Advance: A check for payment in full can be mailed to our office.

• For all LTL (truck) shipments a contact name and phone number for delivery is required at time of order. Also, any accessory delivery charges must be noted on the order. Accessory charges include Lift Gate, Inside, Residential, Construction Site, School, and Limited Access deliveries.

 Witt Industries does not collect any taxes EXCEPT for in the states of OH, IN, WA and MS. It is the customer's responsibility to report and pay all applicable City, Township, County, State or Federal taxes.

Please confirm your shipping address when placing your order. Please see our attached terms and conditions.

Lines Total	53,500.00
Total Taxes	0.00
Line Miscellaneous Charges	0.00
Quote Miscellaneous Charges	0.00
Quote Total	\$ 53,500.00

This Quote expressly limits acceptance to the terms and conditions stated on document number AMGTAC which can be found at https://www.wittcustom.com/home/tac and are hereby incorporated into this order by reference along with any other terms and conditions annexed or incorporated herein. Any additional or different terms and conditions proposed by the purchaser are hereby objected to and do not become part of this agreement. (UCC Section 2-207).

The pricing provided in this proposal does not include any applicable government-imposed fees, including but not limited to tariffs, duties, taxes (e.g. sales, use, value-added), or similar charges. Any such fees will the sole responsibility of the customer and will be invoiced as required.

The pricing provided in this proposal is based on sourcing of materials at costs utilizing the government fees, tariffs, and regulations in place (or announced) as of the date of this proposal. In the event of any changes in government fees, tariffs, taxes, or similar charges that materially impact the costs of goods and services required to fulfill this project, we reserve the right to adjust the quoted pricing - upward or downward - to reflect the actual costs incurred in sourcing and procurement. We will make every reasonable effort to incorporate the most cost-efficient materials and solutions available that meet our standards for fulfillment of this order.

Quote Number: 26942





This Quote expressly limits acceptance to the terms and conditions stated on document number AMGTAC which can be found at https://www.wittcustom.com/home/tac and are hereby incorporated into this order by reference along with any other terms and conditions annexed or incorporated herein. Any additional or different terms and conditions proposed by the purchaser are hereby objected to and do not become part of this agreement. (UCC Section 2-207).

The pricing provided in this proposal does not include any applicable government-imposed fees, including but not limited to tariffs, duties, taxes (e.g. sales, use, value-added), or similar charges. Any such fees will the sole responsibility of the customer and will be invoiced as required.

The pricing provided in this proposal is based on sourcing of materials at costs utilizing the government fees, tariffs, and regulations in place (or announced) as of the date of this proposal. In the event of any changes in government fees, tariffs, taxes, or similar charges that materially impact the costs of goods and services required to fulfill this project, we reserve the right to adjust the quoted pricing - upward or downward - to reflect the actual costs incurred in sourcing and procurement. We will make every reasonable effort to incorporate the most cost-efficient materials and solutions available that meet our standards for fulfillment of this order.